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b) Explain, with neat sketch
1) Perfecting
ii) Notching
iii) Lancing
iv) Embossing
WIH-FeR W & IusE
i) ohfEET
ii) =hfEm
iif) ST
iv) iR
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Note: i) Attemptany five questions.
ol e wesl ot ga HIforg
_ ii) All questions carry equal marks.
Wit wei & |AA 30 €
iii)In case of any doubt or dispute the English version
question should be treated as final.
fareft +ft wepR & g srer A & FRufey & sl wma

& T Y ST HFET SR

1. a) A cylindrical riser of 6 cm diameter and 6 cm height has
to be designed for a sand-casting mould for producing a
steel rectangular plate casting of 7 cm x 10 cm * 2 ¢m
dimensions having the total solidification time of
1.36 minute. What is the total solidification time

{in minute) of the riser?

. 1.36 B et o & e aret 7 Feft x 10 et > 2 ft
At ¥ W AGAPR e HIReT & IodigT & oy
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2]
he procedure of investment casting with ncat ) )
Skct.c h" what are the advantages limitations and b) Differentiate the hot working and cold “"“"?““E Pm_c':ss'
applications of investment casting? Justify which process is best suitable for wire drawing?
e IR (investment casting) $ HHT TN HIH- maﬁmmaﬁﬁmnﬁmﬁmﬁlmﬁaﬁaﬁ
TR W & ey wsmEy, A IR $ B WA 3R fre @it @ s T SogwE 2, Fe st R
aiﬁm FATE? A
a) A cylindrical blind riser with diameter d and height b, is o
placed on the top of the mold cavity of a closed type sand a) What is the use of Pattern Allowance in casting?
mold as shown in the figure. If the riser is of constant i & ded o o1 9T S 27
volume, then the rate of solidification in the riser is the least b) Defined each of them with the neat sketch.
when the ratio of h : d is . Comment on the results. i) Shrinkage Allowance _
A d 3R Fa1d h & 91 [ donR HUT IF9N, 06 &5 ii) Draft Allowance
HER & W Hies & Hies a1 & ofid o e 7ar g A & iii) Machining Allowance
R ¥ Rvaray 7 #1 gf2 3R & S fRR 2, df e iv) Deformation or Camber Allowance
N ot &t gv gay 79 Bl & 919 h : d 7 3 v) Shake or Rapping Allowance .
grer &1 gRomy o) Rooft ¥ I A W 1 weB Y | aRefa )
b) What are chills, Chaplets and core prints, explain their i) eI
applications in casting with neat sketch. i) Fac "l
e, dctew silk R Gigw a7 &, e § 37 srgrgmi iii) =l wwm
il T YW 6 WEar d AT iv) T a1 F= Hl
a) A cubic casting of 50 mm side undergoes volumetric v) 9 A e
solidification shrinkage and vol tric solid tracti '
£ volumetric solid contraction s _A]uwca_rbnnsleelplateistﬂbﬂﬁ'ﬂdﬂdb}'thﬂﬂlﬂﬂualmﬁm
arc welding process using a linear V -1 characteristic DC Power

of 4% and 6% respectively. No riser is used. Assume
uniform cooling in all directions. Find the side of the cube
after solidification and contraction. Explain your

assumption in brief.

50 frft WS f Fgfas FHIRcT M 4% 3R 6% &5

source. The following data arc available:
OCV of Power source =62V
Short circuit curtent = 130 A

Arc length, L=4mm
Traverse speed of welding = 15 cm/s

Efficiency of heat input = 85%

Voltage is givenas V=20+15L
Calculate the heat input into the work price

H"@Eﬁmﬁﬁﬁﬂﬁﬁ!@?mmw ey wiftis
Pl H ol 81 R 1 SuanT 2 frar smar 1 @

faenait 5 T Sftaer 71 o1 s ofR Riged & @i &+
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T T B W @ @) A3 TN 358 BT T o
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aftsa, Pr=rfaRaa srer Suee &

iR | w1 OCcv =62 V

N Wb e = 130 A

Wﬁm L=4mm

AR B srpreer af = 15 /A

T e & enrar = 85%

A V =20+ 1.5 L ¥ wu 3§ faay mar &
o e A mff gerge & oET ¥

6. a) In an arc \?ﬁld_ing operation, carried out with a power
Source mauwntained at 40 volts and 400 amperes, the
consumable electrode melts and just fills the gap between
the {netal Plates to be butt welded. The heat transfer
efficiency for the process is 0.8, melting efficiency is 0.3
and the heat required to melt the electrode is 20 J/mm?,
If the Iraw.:i speed of the electrode is 4 mm/s, what is the
cross-sectional area, in mm?, of the weld joint?
TF A AT SRH F, 40 dle ik 400 vl ov
m@mﬁnﬁﬁﬁa%mﬂﬁmma IR
e Rae o # sl aw urg & et & e Ht @
aﬁﬁéﬂ%ﬁiﬂmﬁmwai "ferar & g mf
EFARIROT Q&7 0.8 8, Rerer # 2arar 0.3 2 ailv TS oY
ﬁtraﬁaiﬁ-‘maamuﬁmffznﬂmm%mﬁ:ﬁaﬂsﬁ
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b) Whatere different welding defects? What are the remedies
of weld splitters and porosity control for ideal welding?

Riftrst Afeet 2 aa1 §7 e AfesT & fag 3o fAaed
aite wrven Frdso & Jug T E7

7. a) A hole of 20 mm diameter is to be drilled in a steel block

of 40 mm thickness. The drilling is performed at rotational
speed of 400 rpm and feed rate of 0.1 mm/rev. The
required approach and over run of the drill together is
equal to the radius of drill. Find the drilling time (in
minute).
40 fiydt Hireré 3 e e o 20 B s & @ Bl A
s T 21 R0 400 rpm & goif ARy 3R 0.1 mm/rev
£ g = R B ol #1 s gt ik W AR
1 v T e @ B & wee g1 o v (foFre )
ST DI

b) What is the difference between elastic and plastic

deformation.

Sraer ok onfee® fAeau & 9 791 SR g

8. a) What is forging and deep-drawing defect and their
remedies?

R iR Sa-gET A T & R ST I T R?
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